70 10
. |
| 10
|
40
O
40 20
|
10
| |
10
|
40
@
70

Scanned with CamScanner



70 10
20 ,
10
|
40
40 20
|
10
i
1
10
|
40
70

Scanned with CamScanner



30 15— —15 30
I
25 15
I
|
10
]
30
30
70 -4 10
30
|
10
|
40

@

Scanned with CamScanner



30

60

i

14—

e e e e e e — i d

e e S — " —— —

l—20—]

60

10

60

30

30

70

20

Scanned with CamScanner



10

e e . e — o —

10
. A—

- 10-+=10-110

30

40

20

20

40

I—zo——l

TS . P ————
o
T

60

20

30

b

40

80

60

Scanned with CamScanner



35

40

a8 15
|
|
15

60

75 —15—

60
|
15
|

45

Scanned with CamScanner




20 35 20 20
10
20
35
20
60
25 25 25 29
45
23
L
~
~3
60
SR

Scanned with CamScanner



25

80

Scanned with CamScanner

75
42 25
: ...............
2=
H
[]
[ ]
[ ]
[ ]
[ ]
]
]
[]
: 24
28
10 125
25 25 36
80
_______________________ 215
10~
80 25
125




-———[—10

75

e —— — ——— —— — ————

35

15

0

1

50

60

40

20

30

30

&N

20

Scanned with CamScanner



im0 —s

(1)

11 —a—

16

24

{2}

Scanned with CamScanner



d

74

13

12

28

(3)

25

16

0

Y

N L

R
b ——

25

""_-B"'_"'

o ——

40

16

Scanned with CamScanner



16

07

(s)

40

16

25

e e e

12

20

16

Scanned with CamScanner



— 10—

10

24

25

0

(1)

[ s

30

-

[~

15

(2)

Scanned with CamScanner



10 16
10
a0
-7
o

|

8

I

(3)
30
40 —0 T 9
= -1
4
e
%
10

I |

| |

| |

I ]

| 1

| 1

| |

| |

_ — _ {4)

Scanned with CamScanner



a3

S p—

22

o]

T

56

Scanned with CamScanner

40

e e s ———— ———————
b e . s o ————— —

D26

14

= -

i8

-10

42

25
40




